ma-th A“-tics® Name:

Work sheets Date:

Multiply and Divide Before You Add and Subtract

A-0OPS 1

Instructions: Use the Order of Operations Rules to simplify each expression. Write your an-
swer in the space provided and be sure to show your work.
m 5+2x3= 11 15+5-1= 2?2
5+ 6 \_ S5
Multiply Divide
11 First First 2
i 6+4x2= Pl 10x4-5=
Bl 10-6+3= U 20-5x4=
B 3x7+4= 0 3+24:8=
8+4x3= Bl 1+6x5=
B 12:6+7= 0 50-10+2=

-
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math Antics

Work sheets

Order of Operations: From Left To Right

Name:

Date:

A-OPS 2

space provided and be sure to show your work.

B 6-4+8= 10 B
2 +8
10
Bl 20+5x%x4= 4]
Sl 12-5+43= 6]
24+3+2x5= 8
ﬂ 4x6+2x5= m
B 35-5-10+3= 12

-

Instructions: Use the Left To Right Rule to simplify each expression. Write your answer in the

30+3+5=__
38-9-4=
8+7-2=
32+4+2x4=
14+2x3+3=
43 -5+ 6-10=
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math Antics ame:

Worksheets Date:
Order of Operations: Parentheses First A-0PS 3
s 2
Instructions: Use the Order of Operations Rules to simplify each expression. Write your answer
in the space provided and be sure to show your work.
B 3x2+5=21 B 10x(1+6)=
3 X7
21
B (5+4)x2= W (15-4)x3=
B 25:(8-3)= O B+6)+7=
30+ (12-7)x3= O (14-5)x6+3=
B 4x6+(7-5)= 0 28+(3+2x2)=
Bl 6x(10-4)+3= H (12-3)=(7-4) =
\ J
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math Antics e
Worksheets Date:
Simplify Exponents Before Other Arithmetic A-0PS 4

in the space provided and be sure to show your work.

1+9
10

-

B 1+3= 10 B

B o15-2343= 0

B 22x5+42= (6]

22+4-1= 8 ]

B 52-32= 10]

0l 6r+4= B

Instructions: Use the Order of Operations Rules to simplify each expression. Write your answer

4 +2=_
5+4=
3x2°-4=
11x3-5=_
15+2°+ 4=
102-99 =
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Work sheets

Order Of Operations Practice

Name:

Date:

A-OPS 5

in the space provided and be sure to show your work.

(1] 2x (44-4)= 24

2x (16 -4)
2 x 12
24
B 1+3)x5=
Ho40+-(12-7)=

23+30+(7+3)=

O (24+6)+(14-4x2)=

B 62-(11+3)x2=

-

Instructions: Use the Order of Operations Rules to simplify each expression. Write your answer

N

14-(3+5)+2*=

7x(7-1)+3=

7*-(5+24) =

(3*x3)-(2+5)=

[20-(3+4)x2]+5=_

[22+(15-7)] +8 =
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